Quantitative Methods in the Behavioral Sciences PSY 302

Francis Marion University

Final Exam Practice Fall 2019
1. Of 16 members of the 2018-2019 women’s basketball team, seven are psychology majors. What percent have chosen this major?
a. 43%
b. 30%
c. 7%
d. 75%

e. 27%
2. For inference about two groups use a Z instead of T-test when:
a. the data are normally distributed
b. the mean is larger than the standard deviation
c. the population standard deviation is known
d. when you are using qualitative rather than quantitative variables
e. we want to estimate the value of the statistic

3. A frequency distribution tells us what values a _______ can take and how often each value occurs.
a. standard deviation
b. variable
c. scatterplot
d. standard error
e. sampling distribution

4. Which of the following is true of a Type II error?
a. we retain Ho when Ho is false
b. the mean is large
c. we see a difference as meaningful when it is not
d. the standard error is small
e. we decide it was not chance when in fact it was chance.

5. Inferential statistics provides methods for drawing conclusions about a _____ from sample data.
a. regression analysis
b. the mean square
c. the sum of squares
d. population
e. the law of large numbers

6. We use _________ when our goal is to estimate a population parameter.
a. reliability
b. psychometrics
c. confidence intervals
d. hypothesis testing 
e. validity

7. ____________is to population as statistic is to sample.
a. sign
b. standard deviation
c. sampling error
d. sampling distribution
e. parameter 

8. When doing regression analysis we plot the _______ on the vertical or Y axis.
a. independent variable
b. sampling distribution
c. statistic
d. parameter
e. correlation coefficient
f. none of the above

9. The major problem in inferential statistics is:
a. sampling error
b. correlation
c. rounding of decimals
d. proportion
e. coefficient of determination

10. The critical Z for 99% confidence intervals is:
a. 2.22
b. 3.45
b. 1.96
d. 2.576
e. can’t say without knowing the standard deviation

11. The _____, also know as R2 measures the percentage of variation in the dependent variable that can be explained by changes in the independent variable.
a. sampling error
b. correlation coefficient
c. normal distribution 
d. proportion
e. coefficient of determination

Using the wine data. Polyphenols are good for reducing heart attacks. Does red wine have a different amount of polyphenols that white wine?  
12. What type of problem is this?
a. regression
b. t-test for independent samples
c. matched pairs
d. chi square
e. correlation

13. Polyphenols is ___ variable. :
a. the Independent variable
b. the dependent variable               c. a. categorical
d. a & c
e. b & c
 
14. The obtained statistic is:
a. .1.38
b, 5.73
c. 3.81
d.1.96

e. .05

15. The alpha level for this study is:
a. .024
b. .01
c. .05
d. .0027
e. not stated

16. The amount of polyphenols in wine is an example of ____ data.
a. measurement
b. quantitative
c. categorical
d. nominative
e. a & b

Using the Physical capacity data, determine if Mary is correct in saying that Canadians are less optimistic about their recovery after a heart attack.  

17. What type of problem is this?
a. regression
b. t-test for independent samples
c. matched pairs
d. chi square
e. correlation

18. The proportion of Americans who think their physical capacity is much better is:
a. .15
b. .22
c. .09
d. .05
e. .12

19. The obtained statistic is:
a. 2.98
b. 1.22
c. .000051
d. 81.609
e. 41.08

20. the P value is:
a. .127
b. .427
c. . 0.000000026

d. 1.09

e. .007

21. Number of Canadians who feel about the same is an example of _____ data.
a. measurement
b. quantitative
c. categorical
d. skewed
e. a & b

Using the exam data determine if students score differently on the multiple choice versus the short answer portions of the test

22. What type of problem is this?
a. regression
b. t-test for independent samples
c. matched pairs
d. chi square
e. correlation

23. The average grade for students on the short answer portion of the test is:
a. .15
b. .22
c. .49
d. .05
e. .78

24. The obtained statistic is:
a. 2.98
b. -4.197
c. .000051
d. 81.609
e. -5.747

25. the P value is:
a. . 0.000098
b. .427
c. 0.00000333 
d. .21
e. .007

26. SA grade is an example of _____ data.
a. measurement
b. qualitative

c. categorical
d. nominative
e. a & b

Use the quiz data to see if we can predict a person’s grade on the quizzes by knowing their grade on the homework. 

27. What type of problem is this?
a. regression
b. t-test for independent samples
c. matched pairs
d. chi square
e. correlation

28. What proportion of the variance is quiz grade can be explained by homework. 
a. .58
b. .34
c. .41
d. .22
e. .78

29. The obtained statistic is:
a. .58
b. .34
c. .41
d. .22
e. .78

30. the P value is:
a. . 0.000098
b. .40003
c. . 0.000789

d. . 0. 0.000688
e. .007

31. After completing get your graduate study you must pass the licensing exam, the National Examination for Professional Practice in Psychology (EPPP). To ensure _______, it involves questions from all areas of psychology. 
a. Face validity
b. Content validity
c. Criterion-related validity
d. Construct validity
e. Concurrent validity
32. Reliability tells us whether a test:
a. is fair
b. measures what it claims to measure
c. measures consistently
d. all of the above
33. Using a test of flower trivia to make admissions to college would be wrong due to problems of:
a. reliability
b. validity
c. both reliability and validity

d. neither reliability nor validity
34. [image: image1.emf]Physical Capacity

Each person answers two questions: 

nationality and how do you feel 

Physical capacity CanadaUS

Much better 37 325

somewhat better 56 325

about the same 109 1039

somewhat worse 78 390

much worse 31 86

Based on the table to the right, what percent of the students are female students are in administration?
a. 2%
b. 40%
c. 27%
d. 76%
e. 24%
35. A scatterplot shows a _______ relationship between two quantitative variables.
a. histogram
b. frequency distribution
c. linear
d. standard error
e. sampling distribution

36. Based on the chart with error bars shown below, the lower limit for Siamese appears to be about:
a. 130
b. 150
c. 122
d. 118
e. 140


[image: image2.wmf](

)

n

p

p

z

p

ˆ

ˆ

ˆ

-

±

*

1

[image: image3.wmf]n

σ

z

M

*

±

[image: image4.emf]Female Male

Accounting 68 56

Administration 91 40

Economics 5 6

Finance 61 59
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 Exam data                    Wine data amount of Polyphenols
 

	sagrade
	mcgrade

	81%
	67%
	Red
	White
	
	

	100%
	100%
	3.5
	3.1
	
	

	13%
	80%
	8.1
	0.5
	
	

	13%
	50%
	7.4
	-3.8
	
	

	0%
	80%
	4
	4.1
	
	

	56%
	87%
	0.7
	-0.6
	
	

	31%
	77%
	4.9
	2.7
	
	

	81%
	83%
	8.4
	1.9
	
	

	75%
	100%
	7
	-5.9

	44%
	90%
	5.5
	0.1

	38%
	83%

	38%
	57%
	qzavg
	Hwork

	56%
	73%
	61%
	50%

	13%
	80%
	96%
	100%

	75%
	80%
	64%
	81%

	50%
	90%
	59%
	100%

	38%
	87%
	72%
	81%

	19%
	57%
	68%
	100%

	100%
	97%
	71%
	81%

	0%
	43%
	69%
	100%

	100%
	90%
	89%
	81%

	81%
	67%
	81%
	100%

	94%
	100%
	70%
	100%

	38%
	67%
	30%
	63%

	44%
	77%
	69%
	94%

	25%
	80%
	66%
	38%

	6%
	53%
	81%
	100%

	100%
	87%
	78%
	100%

	25%
	73%
	74%
	94%

	
	
	53%
	94%

	
	
	94%
	100%

	
	
	37%
	56%

	
	
	83%
	100%

	
	
	59%
	69%

	
	
	93%
	88%

	
	
	77%
	94%

	
	
	88%
	100%

	
	
	78%
	100%

	
	
	49%
	13%

	
	
	71%
	63%

	
	
	84%
	100%

	
	
	82%
	94%


1-c, 2-c, 3-b, 4-a, 5-d, 6-c, 7-e, 8-f, 9-a, 10-d, 11-e, 

	12
	b

	13
	b

	14
	c

	15
	c

	16
	e

	17
	d

	18
	a

	19
	e

	20
	c

	21
	c

	22
	c

	23
	c

	24
	b

	25
	a

	26
	a

	27
	a

	28
	b

	29
	c

	30
	d

	
	


31-b
32-c

33-b

34-e
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Link for Chi Square program: � HYPERLINK "http://www.quantpsy.org/chisq/chisq.htm" �http://www.quantpsy.org/chisq/chisq.htm�
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